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Algebra 2: Cummulative Review Homework 13

1. Solve: —3X- =5 3x
w0 E(3) - (3) 2 (3)-
105
35 “l2x — 16 = & — |SX
‘ —12—1 3x—1L =1k
d. 103 3x = B2 .
X= 3%3 =107
2. Simplify completely: 4 ___ .22 —3
22+ /13 24 — F—IS
88 —4-/13
@ 471 = #{22-+T3)
b 88 +4+/13 gy —i3
—4 - g5 - 413
22-Af13
471 471
d 88 + 4~/ 13
' 471
1
Ex+3y=—:
3. Solve by anylmethod:
2%+ 3 12x—4 =~ i B o
le_:/q gjz;u-lz,("'/g,):—-l 3 2y=1-x |3
@ -}—% JZx-H;.b = —)
\ X—6by=2—3
: 1) AR Bty
I‘- b. 43 Ux—Lly =3
I N x -3 _
\ (1 1) Q—mx-&-lﬂg_ q
L e =, —
) 34 ’ZX-HZy = —|
\ 1 ] —-i2x +1s'_3=—q
4

{—’ 309:—-!0
- =1
e

4, Factor completely: 5x* — 22x — 15
a (Grx+3x+3
b. (x+3)5x-95) €x dx )
©® Gx+3x-5 (5x+ 3) (x—5)
d. (5x - 5)x - 3)

G

5. Factor completely: 16x* + 40x + 25

(4x - 5)? (4% + 5)(dx+ 5)
(4x + 5)(—4x - 5)

@ (4x + 5)*

d. (—4x + 5)

(&) ex 3L
(x+0) (K-0x +3b)

6. Factor completely: x3 + 216
a. (x — 6)x2 4+ 6x + 30)
(x + 6){x2 — 6x + 36)
c. (x— 6)x2 — 6x+ 306)
d. (x+ 6)(x2 + 6x + 72)

7. Solve by factoring.
4x% + 28x - 32=0

a. 8,—% L{-(xz.;-‘]x -§):=o0
b. -84 4 ( x+8) (x—1) =0
© 81 X+8=0 X~1= 0
d. ],—-5— x="8 x=)

8. Simplify ~/=175 using the imaginary number i.

‘5:{}? JED5-5
R LT

9. Write the number in the forma + bi: /-4 + 10
a. 4+ 10

b. 10+ i/4 20 +1o
10 + 2i )
2 + 10 T /0+2¢



Name:

10. Simplify completely: 3 —%
a 2 3X!bt,) 5.5
b, -J23 1-77
343
125 = b5 /-
“ o9 :,( )
_3
7
. ~/ 90x18 s
11. Simplify completely: S
@ 3x8\/§ :
b, ~f18x7 4B xn
(o SxM [————
d. noneof these A5 x1T K\{:‘
=y g.5 g1 23XV
12. Write itn|ogarithmic form: 64 = 1, 296
a. loggl, =
yg 4 prut
c. logl,296 =\Q\6
d. log,1,296 = 6

13. Solve by graphing: —8x3 — 13x2 + 6x = 0
a. no solution

b. -2,0.38 X= .315
c. 0,2,-0.38
* * X : -,}
0,-2,0.38 P

14. Identify the vertex and the y-intercept of the graph
of the function y = -3(x + 2)* + 5.

vertex: {~2, 5);

y-intercept: ~7 J, Vertex
b. verex: (2, -5); _

y-intercept: —12 ( 2, S)

c. vertex: (2, 5% y _tnt 2 X=0
y-intercept: -7

d. vertex: (-2, -5); Fvvm 'h‘b{b y ui—)
y-intercept: 9 (ov 57 pwﬂw?

Y=

Corn thas Graph, Find vertor ID: A
(-3, avik  And apsmer

15. Write y = 2x* + 12x + 14 in vertex form.
, 2
o y=2c+ 127+ 14 y= z(x_+(ax+-3)+“*

by = 6(x+9) -4 = 2 (X Hex + ) 41t
c. y=@x+37+14 N I
(@ y=2Ac+37 -4 2 2(x+3)" — 4
16. Find the zeros of y = x(x — 3)(x — 2). Then graph
the equation. X=0 X-3=0 X—2=o
a. 3,2,—3 N X=3 X=727
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b. 0,-3,2
l\lv
b |
)
|
==X 2 x
’ -
| A
[
| 2
¢ 3' 2 -~
by |
o [ /
\ /
A /
) ==z h o .;

@ 0,32 N

—

L
W




